

BNB Exchange the World

**GLOBALFIRE.LIVE** 



## INTRODUCTION

Binance BNB is the one of the largest exchanges the globally, providing a platform for the trading hundreds of cryptocurrencies, including stablecoins like USDT Binance (Tether). Stablecoins like USDT play a critical role in the crypto ecosystem due to their price stability and utility in trading.



## COMPANY PROFILE

We are Investment base company traders invest here and get good profit from our company. Binance's BNB is to increase the freedom of money to globally. The company is committed to The em-powering individuals through To financial inclusion and providing a trusted, secure, and efficient platform for trading digital assets.





## BENEFITS OF BINANCE

#### **High Liquidity**

Binance has billions in daily trading volume, ensuring quick order execution with minimal slippage.

#### **Binance smart Chain**

BEP-20 BNB runs on Binance Smart Chain (BSC), offering low fees & the high-speed transactions. XXX

#### **NFT Marketplace**

Binance burns BNB tokens regularly to reduce supply and increase scarcity, potentially boosting value.

World wide payment

BNB is used in merchants, travel platforms (Travala), and crypto debit cards for real-world process.

# WHY CHOOSE US!



- BNB (Binance Coin) The native token of Binance, used for transaction fee discounts, staking, and participating in token sales.
- D2. Binance Smart Chain (BSC) A blockchain developed by Binance, supporting smart contracts, DeFi, and NFTs.

## BINANCE BEP 20

BEP-20 is a token standard on the Binance Smart Chain (BSC). It defines how tokens should behave and interact within the BSC ecosystem. Similar to Ethereum's ERC-20 standard, BEP-20

tokens are governed by smart contracts, allowing for automated transfers and operations.



### MARKET TRENTS

Decentralized Exchanges (DEXs): BEP-20 tokens are central to the thriving decentralized exchange ecosystem on BSC. Platforms like PancakeSwap, which runs on BSC, allow users to trade BEP-20 tokens with low fees and high transaction speeds.











#### **DIRECT INCOME LEVEL GLOBAL SLOT** TYPES OF INCOME **INCOME INCOME TEAM BONUS SALARY INCOME INCOME** REWARD **INCOME**



# LEVEL INCOME

LEVEL	INCOME				
LEVEL 1	1\$				
LEVEL 2	1\$				
LEVEL 3	0.50 \$				
LEVEL 4	0.50 \$				
LEVEL 5	0.25\$				

LEVEL	INCOME			
LEVEL 6	0.25\$			
LEVEL 7	0.25\$			
LEVEL 8	0.25\$			
LEVEL 9	0.50\$			
LEVEL 10	0.50\$			

## SLOT INCOME

SLOT	AMOUNT	MEMBER	TOTAL	AUTO UPGRADE	TEAM BONUS		PROFIT	SALARY INCOME
1.	15 \$	2	30 \$	20\$	5\$		5\$	
2.	20\$	4	80\$	40 \$	10 \$		30\$	
3.	40\$	6	240 \$	120\$	20 \$		100 \$	•
4.	120 \$	8	960\$	300\$	60\$	REENTRY	500\$	3 WEEK = 25 \$
<b>5.</b>	300\$	10	3000\$	800\$	200\$		1700 \$	6 WEEK = 50 \$
6.	800\$	12	9600\$	2000 \$	600\$		6160\$	12 WEEK = 70 \$

## SLOT INCOME

SLOT	AMOUNT	MEMBER	TOTAL PROFIT	AUTO UPGRADE	TEAM BONUS		PROFIT	SALARY INCOME
7.	2000\$	14	28000\$	5000 \$	1500 \$		18620\$	18 WEEK = 160 \$
8.	5000\$	16	80000\$	15000 \$	5000 \$	REENTRY	53975 \$	24 WEEK = 250 \$
9	15000\$	18	270000\$	60000\$	10000\$		185000\$	30 WEEK = 500 \$
10.	60000\$	20	1200000\$				1199964\$	36 WEEK = 1000 \$
•							<b>14,52,054</b> \$	

## TERMS AND CONDITIONS

- 1. 5 DIRECT COMPULSORY FOR LEVEL INCOME
- 2. AUTOMATIC WITHDRAWAL.
- 3. 2 SLOT OPEN FROM 1 DIRECT.
- 4. 5 DIRECT COMPULSORY FOR SLOT INCOME
- 5. YOUR ACTIVATION WILL BE FROM TRUST WALLET, TP, METAMASK, SAFEPAL.



# GLABAL FIRE THANKYOU

WWW.GLOBALFIRE.LIVE